g 200 Mel+=¢

2 210 ZHEAA+Y
g 215 R34y

ANl ol &b A

Al A

Z2-2-8-5 Off &4 & E Ol At Hns2

E5 Al 2,290,000 2,130,000 160,000
200 M2l +=¢ 2,275,000 2,115,000 160,000
210 & HAN 2= 176,684 357,343 A 180,659
215 d=nf=3+Y 147,000 147,000 0
215-01 d=u23+¢ 147,000 147,000 0
< WS > 147,000 147,000 0

O nsReFEs x-uR=s 490,000, 000& *30/100 147,000
216 Ol Xt==¢ 29,684 24,343 5,341
216-01 S0 30l X+ 29,684 24,343 5,341
< WS > 29,684 24,343 5,341

© 33030+ 29,684 ,000& 1 29,684
220 A HAN2 = 2,098,316 1,757,657 340,659
227 RE3 253,316 231,657 21,659
227-02 LBt 2 g3 253,316 231,657 21,659
< WS > 253,316 231,657 21,659

O SH3dFxE 22A=ENREES 22,844,000 «1& 22,844

O SH3EFXE 22A=ENREES 21,650,000 «1& 21,650

O HZANEFSSFIE 22=ENRES 43,320,000& 14 43,320

O dHANESSFINE 2e=ENRES 27,734,000 «1& 27,734

O HEANEFSSFIE 22=ENRES 13,355,000 «1& 13,355

O NMEIIFXE AL+ NRES 5,112,000& «1& 5,112

O SHANESEFIE 28 NRES 24,331,000 «1& 24,331

O HE288EFxE 28 NREES 16,504,000 «1& 16,504

O SEHANEFSSFIE 22=ENRES 4,366,000& 14 4,366

O a3dFxE 22A+=ENREES 34,200,000 «1& 34,200

O SHANESEFXE 2= NHFES  5,100,000& «1= 5,100

O NFEUNREF=XN FR2S 2,900,000& 12 34,800
228 JIEt==¢ 780,000 726,000 54,000
228-03 LEH = 780,000 726,000 54,000
< WS > 780,000 726,000 54,000

O FEXALLUEHEZ

((50,0002 *10024 )+(40,000& *1,50021 ) ) x12& 780,000
229 AtE =42 1,065,000 800,000 265,000
229-01 AttE &g 1,065,000 800,000 265,000
< WS > 1,065,000 800,000 265,000




200 Al2l=+=¢
220 SAIE A2 ==

09 i 0
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229 XA E 49 (Shol:@9)
H-2-8-2 0l & o8 ol are HRE2
O FHXALBEHEZ
(50,0002 *1,30021 )+(40, 0002 25,0001 )) 1,065,000
500 X2 15,000 15,000 0
520 Al - CHIRE2S 15,000 15,000 0
521 Al - GHIRZE2S 15,000 15,000 0
521-01 Al - SHIE X3S 15,000 15,000 0
<WED > 15,000 15,000 0
O WEFXERI XA 8,000,000 * 14 8,000
© I2tel FAHGTY BX 20,0009 x5 +702 7,000




